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Konkypc 1 «HAUAU NPABUIbHYIO AOPOIY»
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*Konkypc 2 «<HAUAN NULLHEE>

MACCA

OBbbEM
CKOPOCTb

BPEMS
NABJIEHUE
LASA NOLLAD

AABJIEHNE

MJOTHOCTDb

NOLLAAD
NJIMHA




*KoHnkypc 3 «HAMAN NULLHEE>
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*KoHKkypc 4 «<HAUAU JIULLIHEE>
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V *KoHkypc 5 «<HAUAU JIULLIHEE> ‘
EANHNLbI ®U3NYECKUX BEJIMYMH
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*KoHKypc 6
«BbIBEPU MPABUJ/IbHbIN 3HAK: <=>»

700 MM pT.CT. 101300 MNa
10 OO0 H 20 KH
100 cm3 0,1 M3

150 mr 1,51

2700 Kr/m3 0,27 r/cMm?3
72 KM/ 20 M/c
14 2400 c

1000 MI'y 15 000 000 'y,

250 mn 250 cm3




*700 MM pT.CcT. < 101300 Na
*10000H < 20kH
*100 cmM3 < 0,1 m3

*150 mr < 1,51

%2700 Kr/m3 = 0,27 r/cMm3
*72kM/M = 20 M/c
*1y 2400 c

*1000 MIy > 15 000 000 Iy
*250 mMn = 250 cm3




